TIME & WORK
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To do a certain work, B would take time thrice
as long as A and C together and C twice as long
as A and B together. The three man together
complete the work in 10 days. The time taken

by A to complete the work separately is?
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(A)20 (B) 24

(€) 22 (D) 36

A takes three times as long/as B and C together
to do a job. B takes fouy times asdeng as C
togeter to do the joh. If all the thrée, working
together can comiplete the job in 24 days. then
the numbef of days, Algne will take to finish
the job ist

T &1 =l & & G A &, B 700 C & T Hiersiy &
qo | fEmEsa o €8I B %, A @it C F TE Ty
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= %1 R e H g0 s ?
(A) 100 (B) Y6
(Cy120 (D)Y90

B takes 4 times the time taken by A and C to-
gether to complete the certain work. C takes 3
times the time taken by A and B together to
complete the certain work. If they three to-
gether can complete it in 5 days then in how
many days B and C together can complete it ?
ferelt =nrel =1 &7 % for B, A =i C g o fiveret =
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1 . ]l _
(A) 9 day/fe (B) 11 Gyctay /fe

(©)265 day/feA (D) 285 day [

A tédRes & hours more than (A + B + C) together to
¢omplete a work. Btakes Tthours more tham(A + B +
Q) Logether Lo complele i work. C lakes lwicg a§(A + B
+ C) Logether Lo eomplele a work. In how many days
will A dand B together complete this work ?

A ferdll = =1 B A (A B A O 6 e ST o # |
elich B 39l H A SREA (A + B+ O) ¥ 1 SR A # |
C SH M FIFEA T (A+ B+ O)H 31 TIHg 9@ g, A (A
+ B) BH M 21 Fha faa § i ?

(A) % hour / %= (B) % hour/ =<

4 .
(C) 3 hour/ =2 (D) None of Lhese

A, Band C working together can finish certain piece
of work in 40 days. I[ (A + B) work Logether Lhan lake

1
3 less time than that of C takes alone, If (A + C) work

1
Logelher than Lhey Lake 3 less Lime Lhan Lhal of B lakes

alone. In how many days (B + C) working together
will finish the work ?
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(B + C) =9 =9l Toha a7 & weg 71 ?
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7
(A) 48 o9 days/ e (B) 47% days / T&

18

1"‘
(C) 585 days / &= (D) 43 2—2 days / f&7
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6.  3man, A, Band C complete a work is such a way that S I -I-'
A works for all the days, B works for 1stand 2nd day 0 U |O n S
and C works for 3rd, 4th and 5th day. B+ Ccan do

as much work in 2 days as A alone does in 3 days. In
how many days, A, B, C alone do the work? If B+ C 1.(B) 1 day work of A, B and C
cancomplele the whole work wilthoul the help ol A in

6 davs. A+B+C= L (i)
3 et A, BT C At S R TE TE WA E 77 A 10
TR I L, B IR A G e e h  C o, w A+C=3B ., (i)
o gierd fo s R | A, 3 Ter A foaen s e 2, =a from i &A,,J'Bzzc """""""" (159
9 (B + C) 2 feii ¥ %0 € 19 AT or-1em 39 = 3 Vfggé:)B =(]i3ldays
e we o T w47, 71 B+ C faer A =it geEa & 39 from (i) & (iff)
9 F 6 T H T T F woe gel C =30 davs
(A)12,9,9 (B)9, 18, 9 Put the value of B & C as onaday work in eq. (i)
() 10,5, 6 (D)12,7,8 1 1 1 _ A
A=10 "%0 " 3gl 24 Pt

7. Two workers ‘A" and ‘B’ working together com-

pleted a job in 5 days. Had ‘A’ worked twice as A can compllete =24 'days
efficiently as he actually did and ‘B’ worked one- | 2.(B) A:B+C
third as efficiently as the actually did, the work 3:1 (Time)
would have completed in 3 days. [n how many 1:3 =4 [Efficiency)
days could ‘A’ alone complete the job? A+ICiB _
T HATR A 2R B 3 T w19 faere T w5 % 5 e 1:4 (Timme)
T 5 | afe A I | foa ey § we Rrarses ;-.E§+_C5 (Eifficiency)
AT FFEema § we fERapgia o B AleEe, © e 1 o4
T o R R SEE U foeTe e | g Rt x5 ( ' st
FI, A 3580 T T E S eTheT (A ST e Rl fhd S5 i 15=20
fea o QU@ 2 (cps 201841 A's efficiency = 5
B's efficiency =4

1 1
(A) SEdays (B) 4gdays A+C:B

' -4 : 1=5 =

I 1 =4 Q x4

A's efficiency = 5

B's efficiency =4

total efficiency = 20

C's efficiency =20-5-4=11
total work = 24 x 20 = 480

. 480
A alone will do whole work = 5 =06
3. B (B) : (A+C)

time 4 : 1
EIL. 1 4 —25x4=20

4 16
and C (A+B)
Limge 3 1
Eff. 1 ;3 —25x5=20

5 : 15

Efficiency = A:B:C=11:4:5
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(A)

(B)

Mother's Arithmetic = Time & Work

Total work =3 x 20="100

we o1
Timeby (B+ ()= o - Hg days
Let (A + B+ () takes x hours
So, T, = (x + 6) hours
T,=(x+*1) hours
T.=2x hours

it . 1,1
= x (x+6) (x+1) 2x

111 1
Zx 2x (x+6) (x+1)
1 2x+7

= QX_(X2+7X+6)
=X+ 7x+ b6 =4 + 1dx
=3+ 7x-6=0

2

=x=7

: C
: 3
2 2
1 : 1:
(A+CQ) : B
Time 3:4
EIL. {4 : 3)x5
20: 15
50, A:B : C
EIL. 6:15 : 14
Total work = 35 x 40
35x40 _1400 _ . 8
To-o= T390 " 29 T2 duys
A:(B+O
Time 32

Efficiency 2:3

Total Work =3x6=18

In total work A worked for3days=5x2="10
(B+O)sworkfor2days=3%x2=6

So, C's work in 1 days =2
= B's Elliciency=3-2=1

18
So, T, =

o = 9 days

T 18
b 1
18
2

(D) Let total work = 1
For full work let A takes

=18 days

T.= =9days

1
1 day work of A = "
Similarly, B takes d

day work of

1
If B worked 3 rd effectively, then 1 day work

fB = i
Y
3 days work both = o 3b

Acc. to the question,

a b a 3b

Putting above eq. in (i)

5[l+ljzl
a b

|

4a 5

1
=6—d
a n ays
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